CLASS-11 JEE - MATHS

Q1 linll((x — [x]) Where ks an integer, is equivalent to (where [-] signifies the greatest integer function.
(@1 ()0 (-1 (d) Dose not exists
2 Thevalue of lim* 2P p ¢ N equal
Q. e value of lim —-—"=—; ( ) equal.
(a) P(Pz—l) (b) P © P(P2+1) ) PZ;ZP
Q3 The value of lim = XX_:in * equals
1 -1
@1 ®); ©F (@-1
Q4 The value of lim % equals
X—’Z 4
1 1
(@2 ®) 5 (©2 @3
Q5 The value of }(1_1)13 % is equal to
1 1
(@2 (b) -2 ©3 -1
Q.6 The value of !(I_I)I(l) Sm(n:+zx) equals
(@) - Ok ©2 (d) 2m
Q7 The value of lin(l) Yizcoszx equals
X— X
@ao (b) 1 © V2 (d) Does not exist
Q8 The value of éin& (sec® — tan 6) equals
2
@?~o ()1 (©2 (d) o
Q9 The value of lin(l)(l2 — cotx) is
Xx-0 X
@1 ()0
(c) (d) Limit does not exist
Q10  The value of lim { ’x +Vx+Vx— &} equals
1
@?~o (®)3 (©2 (d) log2
Q11  The value of !{1_1)1(1) % equals
@~o ()1 (©-1 (da-B
1
Q12  The value of lim {tan G + x)}x equals
(a) e? (b)e? (e (@1
X2 X X
Q.13  The value of )11_}1?0 (ﬁ) equals
(@)e* (b) €? (0 € (de
xX+4
Q14  The value of )11_}1?0 (g) equals

@0 ()1 (c) e* (d)e®
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Q15

Q16

Q17

Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q27

Q.28

Q.29

Q.30

Q31

Q.32

. 1+ta x
The value of lim{————=}°°%¢¢* equals
x—0 1+sinx

@e OF ©1

X Xypcx 1
The value of lin(l)(aﬂ%)} equals
X—

1 1
(a) (abc)z (b) é(abc) () log(abc)s
1 .
The value of Xllrgl+((sin X)x + (i)s“1 *) equals
@~o ()1 (©) o
The value of lim|x|5"* equals
xX—0
(@o (b) -1 o1
Ify = log(secx + tan x), then % =
(a) tanx (b) secx (c) tan?x
Let f(x) = log(x + vx? + 1), then f'(x) equals
2 X X
(@) vx*+1 (b) T ©1+ T
Let f(x) = e* - g(x),g(0) = 4,g'(0) = 2, then f'(0) equals
@1 (b) 2 (©3
The value of % is, wheny = f(%) and f'(x) = sin(x?2)
g -1, -1 . (1
(a) —x2 sin (x_Z) (b) = sin(x?) (c) zsin (x_Z)
If\/§+\/§ = 4, then % atx = 11is given by
(@3 (b) -1 (©-3
Ify = |cos x| + |sin x|, then % atx = 23—“ is
@ =8 )0 ©3(V3-1)
The value oflirr(l)logc% is equal to
X—
@0 (b) o0 (1
If lim az_zz = —1, then
X—a X"~
(@a=1 (b)a=0 (c)a=e
The value of lin(l)w is equal to
@5 (b) 0 (©1
The value oflin(l) (1071 equals
(@) n! (b) (n — 1)! (¢) —n
If G(x) = —V25 — x?, then lirr}% has the value
X -
OF OF (©) V24
The value of lim @ equals
x> 2cosx—1
3
1 1
@3 ®) 5 (©V3
x2 _ x
The value of lim > ;DS equals
X0 X
3 1 2
@3 (®)3 ©3
22
The value of lim =*—=—" equals
Xy Xe-y
@0 (01 ©=

y

o

@1

-1
(d) Dose not exists

(d) sec? x

1
x2+1

(@

(d)6
(d) —x2sin(x?)

@1

V3+1
2

(@
(d) Does not exist
(da=-

(d) Does not exist
(d)n

CF

@ =

(d) 2

sin 2y
D=
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(4*-1)3

Q33  The value of lim —, —— equals
x-0 singlog(1+5)
(a) 3(log4)3 (b) 4(log 4)3 (c) 12(log 4)3 (d) 15(log 4)3

(cosx—1)(cos x—eX)

Q34  The integer n for which lirr(l) is a finite non-zero number, is
X

Xl’l
@1 (b) 2 (©3 (d) 4
Q35 lim sinmo(a-mnx-tanx) 0, when n is a non-zero positive integer, then a is equal to
x-0 X2
n+i 2 1 1
@) 5 (b)n“+1 (©) — (d)n+ -
-3 2(2x+1 2 . .
Q36 Iff(x) = ;—4, g(x) =— ﬂ andr(x) = —y then value of Eir;{f(x) +g(x) +r(x)}is
(a) Zero (b) 2 © -2 @ -1
o101 1 1,
Q37  Value ofllglo(;—x—z+x—3— - .....00)x is equal to
(a) Zero OF (©e @1
38 Value of lim 2522029 4 quals
Q 7 q
x—-0 X
1 1 1 1
@ () © -

x(1+pcos x)—gsinx

Q39 Iflim = 2, then the value of p + 2q equals

x-0 x3
@ -3 ® -5 © =5 @-7
. (x+2)(4x+5) .
Q40  The value of il_}l’gl} Rare S equal to
(a) Zero ()1 () 4 OF
Q41 Iff(x) = x?Inx, then f'(e) equals
@e (b) 2e (c) 4e (d) 3e
Q42 Ify = |sin 2x| + |[tan x|, then value of j—i atx = %ﬁ is
1 1
@—3 (®)3 (-2 (d)2
Q43 Ify = |[tanx| + |secx], then % atx = 5?11 is
(@) -2 (b) 2 ©-= OF
Q44 Ify = |sinx], then value of % atx = %n is
1 1 1 1
@ -3 (®)3 ©-5 O
: 2
Q45  The value oflirr(l)w is
X—
@ 0 ©F ()2
Q46  Let limsm—zxX =L, and lim il L,, then the value of L; L, is
x-0 tan(3) x>0 X
(a) 4 (b) 8 (©6 (d2
. 2%-1 . 3%-1 . 651
Q47 )1(1_1‘)13 — T }(1_r}r(1) P )ELrg(T) equals
@1 (b) 2 ©0 (d) 4
4_ 54
Q48 lim log(429) 4 Jim X2 equals
Xx-0 X X2 X—2
(@) 30 (b) 32 (c) 35 (d) 34
Q49 lim SINX 4 lim 28X equals
x—»>— X Xx—»>—00 X
@0 ()1 (©3 (d)
. 2X-1
Q50 lim 22t -
(a)2 (b) logs 2 (© =% (d) Zlogg 2
Q.51 lirr}(sec zlx) -Inx is equal to
s 2 2 s
(a) ; (b) - min 2 (C) min 2 (d) E
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. sin2x .
Q2 Mo

@) 2 (b) 4 (©8 (o
Q.53 hrré J— = equals

X— X

(a) 3 (b) —% ©0 (d) Does not exist
Q.54 lir51+((xcot x) + (xlog x)) equals

@1 (b) 2 (©3 (do
Q.55 m,n €1*, then lim — equals

x—0 ( )m
a)l,ifn<m b) 0,ifn = m )= d)0,ifn >m
m

Q.56 % is equal to

X—00

@2 (b) e? (c)e™? (d) o

1

Q57 lmé( )§ equals

X—

(@2 (b) 6 (o) 16 (d) 112
Q58 Iflim(1+ % + X%)ZX = e, then the values ofa and b are

(@a€eRbeR (b)a=1,beR (c)aeRb=2 (da=1b=2

1
Q.59 Ifa,Bareroots of ax? + bx + ¢ = 0, thenlim (1 + ax? + bx + c)x—« is

X—=a

(@a(a—p) (b) log el (a—pB) (© ea(a—B) (d) ea(atp)
Q.60 If lirr(l)(cos X + asin bx)l/x = e?, then the values ofa and b can be
X

(@a=1b=-2 (a=2vZb=v2 (Ja=2VZb=— (da=-2b=1



CLASS-11 JEE - MATHS

Determine the limits for the following in Questions 1 to 4.
1
z3-1

Q1

Q2
Q3
Q4
Q5
Q6
Q7
Q8
Q9
Q10

Q11
Q12
Q13
Q14

Q.15
Q16

lim =
z-1 5 1

ax?+bx+c

,a+b+c#0

x—1 cx2+bx+a
sin(m—x)
x> T(T—X)
limmr?
r-1
<
Find llmf(x) where f(x) = {32& I i) z > 8

If the function f(x) satisfies, 11m ( )

Vx+1-1

= m, evaluate limf(x)
-1 x—1

Find the value llm "

sin 5x
Find the value llm
tan 3x

1 C€OS 5x
Find the value lim ———
x—0 1—cos 6x

(x+1)5-1
X
—COSX

Find the value lim

Find the value lim = >
x-0 sin“ x

Determine the derivative of the function sec x.

Determine the derivative of the function %

Determine the derivative of the function x? cos x.
Determine the derivative of the function eVtn*
Calculate the derivative of the function f(x) = (3x + 2)%/2 with respect to x.
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ANSWER KEY - LEVEL -1

Q. 1 2 3 4 5 6 7 8 9 10
Ans. d c b a c b d a d b
Q. 11 12 13 14 15 16 17 18 19 20
Ans. B a a d c a b c b d
Q. 21 22 23 24 25 26 27 28 29 30
Ans. D c c C a a a c d b
Q. 31 32 33 34 35 36 37 38 39 40
Ans. a d c C d C d b c a
Q. 41 42 43 44 45 46 47 48 49 50
Ans. d c a C a b c d a d
Q 51 52 53 54 55 56 57 58 59 60
Ans. c c d a d d b b c c

ANSWER KEY - LEVEL - 11

1. 2
2. 1
3. 1
T
4. i
5. lim=6
x-1
6. limf(x) = 2
x—1
7. :
2
8. 2
3
9. =
36
10. 5
1. 2
2
12. sec xtan X
1
13. e
14. 2X €0S X - X2 sin x
tanx Sec?x
15. e PN
1
16.  2(3x+2)?




